GENERAL MENTAL ABILITY TEST
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(Questions ;: 1~ 5) |
Directions : Complete the following number/

letter/figural series by choosing the correct
answer from the given alternatives.

1.1, 4, 5,10, 17, 28, 53, 7, 2
1) 58, 64
2) 64, 93
3) 78, 118
4) 82, 161

3.2, Y, w, u, R, O,

1) K
2) I
3) H

4) J

(T -
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. i,l,l,n 5, 30, ?
24’12 4

1) 150
2) 180
3) 210
4) 240
?, G, B




(Question : 6)

6. Direction : Choose and substitute the
correct set of signs. in place of *
sequentially, selecting from the given
alternatives to make the equation
meaningful. '

O R

1 6)
6. BRI :»&’raéi,dm RENETTLRTIY,
LTI E TIREDE IDTBEN, %@égjdoas, :
- 0350 a%éq\mﬁ Rrasa, N
DTN STedRLIH DOLOTI)
TOITVEONNPOT B304, ’

90+ 100+ 10* 100+ 110* 10

1) +, X, ¥,

2) =, T, X, 4, =

3) :, x’v +’ +’ -

4) = T, X, +
(Qiue,sti'on:“l‘) : (Z T

7. Direction { When the signs are changed
as shown below, which one of the given
equations will be correct ?

—to x
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=to+
110 +

=+ {0 -
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s o
1) 96-24136=48x 84 . 12
2) 96+24-36 5 48 x 84 = 12
3) 96 +24-36=48 + 84 x 12

4) 96-24 + 36 48 =~ 84 =12

(ngstlon :8) (53, : 8)

8. A student starts from a place A g ,.,, IRBFCI B A 0o R
towards East and reaches place B, © ‘ ? .
From there he turns towards South- TRz &%&59’ @O ’3)@; BA 3@;:‘9333,
West and reaches place C. He then vQow ﬁédosﬁi* 300N f‘g’p ¢ Cn
turns towe‘;rds South-East and reaches STHZN. Fo38 Qﬁi& cod @%ﬁ 3THh
place D. From there he turns‘towards. Pod = o -
East and reaches a place E. He then ?5? D O‘b.mol B chpd SR
turns towards North and finally reaches | QISQ 8O IS ER ST, Yo
-place F. Which of the following figures . ev3g @%ﬁ SN 3BR 3¢ F3enans

=0 Q :

shows his‘movement? 33 29NT o BT wRDH WOIE

| @R, XeumId 9

A B
C F
D
3)
(Questions : 9 10) (J3nsh : 9 - 10) | A
Directions : In the following questions-find - Xeeddneh : Zekor DIIIY D BN -
the missing letters in the given pattern. eﬂgdmﬂmd Be3has '\w"‘)%ﬁ%?ﬁ ONTTz3N

0T L EBOWO.

L ? T 49

? ? D 38

? F ? | a6

51 | 36 | 46
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9. Find the missing letter in the tlird 9. ZRTIJoD gowdg z:mg BRENTHT
column. v - VB TTR, TOWWROWO.

10. Find the missing letters in the second  10. QTRFOHN OTY WY, THENTHT

row. - 0BT, 30WBOND.
| 1) QH
2) R I
3) UM
| 4 VN
(Questions : 11 - 12) (e c11 - 12)

Directions : A problem figure is given at the BRUBRD | WERNTY 2,000 Tpa3gen,
left side. Find its correct mirror image fromthe 85503, T30 MOOIRT TRFED TBLI0LITBT,
alternatives. o | HO3PE OB RYOT FOBEBENO.




(Question : 131)

13. A,B, C, DandE are the members of a

family.

. ‘ 1 .
a) The present age of A is 15 times

thatofB.
b) Bis twice the age of C.

c) Cis 8 years older than D.

1 .
d) Dis 1—2-‘ times the age of E.

Ifthe present agé of Eis 10 years, then find
the difference between the ages of B and D.

1) 48 years
2) 41 years
3) 31 years
4) 28 yéars

(Quésﬁons'f i4 - ﬁ8)
Directions : Complete the given number/

letter / figure analogy by choosing the correct
answer from the given alternatives.

14. 441 : 7
1)
) 8

N
—_

W

2
4

E-N

)
) 1

(@%ﬁ%
B3R
slelovinial wéddsﬁo 302, 3.@&35)&5 RO&TD, /
©933/23 jxf‘@;ﬁ;ér’%ﬂﬁs e@@earrﬁfaw
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13. A, B, C, Daiaéo Efaddoifeéa Mol
BHELOWT *’cﬁ"dz

" a) AOS) ;NS ESOSJAD Bo® 5303.%)23
1 Ojocéd

b) B o3 woia:fg) C o3 3055253

NTTIYE.
¢) Col» DNo3 8FRF BT,
d) D o% Fowexy E o Sodbay

1
15053%53.

Eo®» &0 7.)033,\0 10 IFe033 Baﬁosﬁa
Dﬁ@? A)OSDQJ)S boa’daﬂab B3OTLBOND.

1) 48 TRENH
2) 41 TREND
3) 31 JIENeh
4) 2B DWEID
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(Questions : 19 - 21) (°§%ﬁ%

19 - 21)

Directions : ldentify the number of specified RRWIND : 3917 2osiods &gﬁ@@ 3

geometric shapes in the given diagrams and B0 33Ny ;3_8935033&& BOTIRT

| WITI, dHsr.

19. How many triangles are there in the 19, ﬂraégdad a&gdeg aéﬁg
~ given figure ? :

mark the correct answers.

SWDWRPT 9

)

1) 15
2) 14
3) 13
4) 11

20. How many quadrilaterals are there in 20. éfa&éd;d 8Z3n9 ama_ BIBHFEAVS 9
the given figure ? ,

)7
2) 8
3) 9
410

21.. How many sl‘err“t'icircles are there in the 21__3,@%535- asgcsg Ty ST §71@£ 9
‘given figure ? ' o

1) 16

2) 18

3) 20
4y 24




T

. 22)

(Question : 22) (@% .
22. Direction : Find the missing number in =~ 22. BRI : 83 ¥R 30L& T0L, -
the following pattern of numbers. TITOONY VD BRENTIT
;309_3?30635330l BORBROND.
6|16|15{10] 7
41711312} 11| 2| 8
3|82 7({16| 6|5
5|3 |14]13[12| 5|7
8 |17:| 14|15} 4
1) 18
2) 20
322
4) 26
(Question : 23) (3323 : |
| 23. P,Q,R,S, T3 Utd wHodd

23. P, Q, R,’S, T and U are six brothers.
Q is younger than P, but elder than S.
T is elder than P. R and U are twins.
P is elder than R and Q is younger than U.

Who is the eldest ?

XRReESD. QP P N0 SabasY
gD, &S S Mo Begsd. T

‘oo P 103 BegRD. RSB U

9339 TRRCTSD. Paiw R A0

GenEd e QY UNod

_z&%aﬁab. TS NONOZ S[ob2RD
Brgsd aled ?
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(Questions : 24 - 25) (FBries : 24 - 25)

- . : -
Directions : The following questions are Wafﬁ% P B8 3N "iﬁgozﬁe"b ﬂ@%mﬁ
based on the given intersecting figures. 630 SERNEL WGt B

e

24. Which pair of numbers given below 24, 34 &ty otesy %osin¢ dlocots

are »in‘si_de any two figures only ? SRR e a&gﬁeﬁg mg 59
912
2) 3,11
3) 3,13
4) 11','_1

25. Which of the following number lies in

25. 397 2T cins Hosdodn 3
the figures Ii, Il and IV only ?

1,153 V39 393 @g 9
)9
2) 5
3) 8
4) 10

11



(Question : 26)
26. In which one of the alternative figures
all the given components in the
problem figure are found ? ’

A

(gﬁﬁd 1 26) |
26, 03wz Todwrod uIRO T7, WIRY

YR auR WRREe B 7

Problem {:>
figure '

1y 2

(Question : 27)

27. Direction : Take the given statements as
true and decide which of the conclusions
logically follow from the statements.

Statements :
1. Some doctors are students.
2. All students are men.
Conclusions :
|. All doctors are men.
Il. All men-are not students.
il. Some men are doctors.
[V. All students are doctors.
1) Only conclusion | follows
2) Only conclusion Ii follows
3) Conclusions Il and il follow

4) Conclusions | and 1V follow

3) 4)

(w§ :

27. AuazSa% &@&3&&3 BN D QOTL
FADINEIN 03953 QeE OB FodF FwoN
mdaﬁﬁm?’d @ods "Bcss-‘m)
TewIND
1. 3O &%cﬁ& ébm@rmm
2. DR ;awa@mem aSaa‘saeodsda

stee'oimeéo :
. R wdécm mabeoﬁsdo

|| DY da%i’-beoﬁnda ébmtb‘:ﬁeé@
i é@&@ THRICODT a’icﬁdo
V. Q@9 &m@rr’em dd&
1) Fem®© JeF O | @w&w@a)%ﬁ
2) em® e o ITORZT
3) QeEE OPNTD 113 90RO §

4) VRF ORI | AV IV 90RO 3



(Questions : 28 — 29)
Directions :In the following questions there
are four groups of numbers/letters of which

three are aliké and one is different. Find the

one which is different.

R O o

| @%ﬁ% : 28-29)

ARID 1 81 39N TYIvY Rosfiv /s
RIS 00 THOTHITD, 3083, FYRYeD
DA 2,00 Bedad ROROTHI, BROODHI:S,

20D Y DTN, PRERNDITR, THDSR.

28. 1) 121 64 gg
2) 169 36 76
3) 196 25 79
4) 225 16 g
29. ) ASTEROID

2) AQUIFORM
3) AVULSION
4 ARGUMENT

(Questions : 30 —.31' )

(FBnsd : 30-31)
"Dlrectu')n‘s : Fll."'ld the wrong numbgr/flgure Rpsne - 3@&3&&5 Serdred
in the given series. - o > &

BT, FoRBBONO.

Jmn Rosl)

30. 768, 96, 16, 8, 2
1) 2
2) 8
3)- 16
4) 96

31.
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(Questions : 32 - 33) | C (:o'\)")gdﬁ‘:i?_) : 32-33)
Directions : Find the missing numberinthe  XAWRND : LI SGINVY LLDBHNTR
given matrices. I T 73093250&3534 TODLHBONOD.
32. 112 16 7 256 N7
117 14?2 182 -2 8
143 12 11 156 - 3) 9
49 1
33%. 9 27 162 1) 17
13 39 234 2) 21
? 51 306 3 23
4) 31

(Questions : 34 — 35)‘ )
(3*55_4?1%"3 : 34 - 35)

BRURBRD : LI SFINYY VeBRNDS
RN, TOIE OHRLOT BOBZBBEND.

Directions : Find the missing part of the.
given figure from the alternatives.

14
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(Question : 36) ' (23 - 36)

36. Inacodeif FH=48 and KH =88, 36. 2.0t 3 oécé’tsg"gﬁadFHﬂ&waagKH:B

then the code for M G B is S Snd, MGBoY node3sy)
1) 166
2) 178
3) 182
4) 192
(Question 37) (ojé; 1 37)

37. Direction :In a group of letters, 37. 5RUS: “APDVGHNERM'8: b0
‘APDVGHNERM theorderofthe - YZON¥R, 3R Rouachmos @dm
letters is mterchanged as follows : : &)dm m@d

1% and 3" : 1 30D ma 3§o§o

2" and 5" | - ';230&5533_39553053

4" and 7" 430 B3 7805

6" and 9" : ‘ ' 6 JoD JDESSD 930

8" and 10" 8 [od m@b 10 So
Find the nevil group of letters formed from BRTeN dzszmrb @édmi o &'o
the alternatives. OV CHRYOTS 50(3080@0336

1)GNDAVPMEHR
2) DGANPRVMHE
38) DNAGPVRHME
4 VGNADRPEMH

(Questions : 38 -39) | (3 571*53 $38-39)

38. Which one of the following Venn 38. 3¢%0% Q038R wys 8y B¢ 3%’7{
diagrams represents the relationship éfaéédoa“; O30 FRE 3 A B, C3)
among A, B, C and D under the D oA owoﬁda‘o Nmasﬁna’d ?
conditions given below : ' a) DY Co3» BR ; ead
a) Ali of C belongs to B. ' b) ‘B o [ o AR Beod,

b) Some part of B belongs toA. c) C ;5)3) B ne 3o -gwnins D A
¢) Some parts of bothCandeelong Ncaaﬁ
to D. .

@DC@D

1y 2)

-h

[54]
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39. In ahigh school the languages studied 39 2,083 PF TS0 DTRRFNT
by the students are as follows : ®z§ OHT [ S|k geggocgo@

a) 250 students study English (ad '
a) 250@@@97&% ey @Z%Oﬁ)&’) THRHTD

b) 180 students study Kannada b) 180 amﬁ@rm 3T OGO SeTHD

c¢) 160 students ‘stud.y Sanskrit | c) 160 am@ﬁ{% ;30,)%3 @Q%oi)a’) o
d) 100 students study both English ~'d) 100 Dmét;ﬁs‘ﬁeéa QONETE T 655&53
and Kannada ATREIR, @doﬁad SRBTD
e) 80 students study both English  ©) 80 HWRF ﬁ% QoD 3y ToR3
and Sanskrlt L - ' adc%m @qio:baﬁ aﬁsacéaddo :
'Fmd the total number of students in @@m@oﬁ@dzsﬁ NN c’,)a'aé@?ﬁfé »)05350538534
the high school. 200800,
1) 410
2) 400
3) 340
4) 330
(Question : 40) ('g'éﬁ . 40)

40. The Independence Day was 40. M308, DFWTEORTY 201609
celebrated in the year 2016 on mcdsmd wzﬁmmoaoso “‘amdé

Monday. On.what day in 2018 the
Republic Day will be celebrated ? 20 8&2 ﬁwmmﬁc%wﬁmd 3T &
' ' €32300TAMTYTH ?

1) Tuesday I
2) Thursday 2) HB3
3). Friday 3 &Smd

4) Saturday 4 50\@(5
oJ

16



(Questions : 41 - 42)

Directions

: In the questions given below the

numbers in the figures are related. Identify their

relationship and find the missing numbers in

the given figures.

a

| ,3'

1) 400,
2) 300,
3) 200,
4) 200,

D O

(FBned : a1-42) |
NRWIND : 33 FUR 3300 T3 nYY
BEENG) b | Roggnsd ROROTEID,
BRODE. B RO2OTS, ThHcthe SEXN )
2D, BroeNhas NOSZNEIR, FoREBBOND.

175
150
100
80

13 27 - 23
15 @25
1) 4
2) 5
3) 6
4) 7
(Question : 43) (Z3, : 43)

43. Direction : In the following question a

- problem figure is given. The problem

figure is hidden in one of the figures given

- as alternatives. Find the figure in which
the problem figure is hidden ?

Prablem figure
TT0,, 233,

1)

§§

17

43. el ¢ B N T3 0DY 2,08
TTRLIZH), B8, 8 TTOZW)
BRLSOT DU AT 4 3 Cbogyedee

- 200389 BN, aws HodwEd 23539

VT OBAT 20T, BoTbEERD,

B =
7 (¢

4)
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(Question : 44) , N (=3 : 44)

Direction : In the following qucstlon a set of ﬁwzéa’) 3INT . BB ODY 2.0t RO
numbers is given. From the given alternatives, Rz0R®BWDY, @JDESCS fadeda me@/doég
choose the set which is similar to the given set. No:m Nm@w@ womgojm@ocj 302,

44. 169, 289, 361
1) 25, 49, 121
0) 49, 81, 225
3) 225, 441, 529
4) 441, 529, 625

(Questions : 45 — 46) ('::3?3 neh : 45 —46)

45. Different faces of a cube are givéh 45. 83 ¥R 20T P 5353“ mmm
below. Identify the pairs of opposite ~ SRC0T. %Iaééd)d TSR odnvoTs asda’)d
faces from the alternatives. ' o ;3(5353 =000 zg;a;zgﬁe;go RS

7 3 /.3 L4 5
6-‘2 5 6 5 3 y »6
1) 1,2 ;34 ;56
2) 13;24 ;956
3) 13;25;486

4) 1,625 43

46. When the problem figure given atthe 45, oEwRRO 9 $06J005 TRy WIH, 20D

left side is folded into a cube, which
one of the cubes will, be formed ? z;s‘m%écdmﬂ sﬂa@»mﬁ Omw T

Identify from the aiternatives. YOOERMITH QOWOTY BRUTI
TOSEORNLOT LS.

JAN

®]<|0
¥

18
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(Questior: : 47) (gj}% : 47)

47. Direction: 47. BRWS
A>B H1eans “A is husband of B” A > B @_Odd A 00 B o m“
A —Bmeans “A s brother of B” A-B @078 Aok Bod Z@eeds
A + B means “A is father of B A+B ©0m38 Ao Bod 308 .

A xB means “A}is‘ mother of B” AxB 2033 A 03% B o 3908

If P>QxR+S, howis P related toS?

Find the correct alternative, P>Q xR+S &g p D Sy
1) Pis father of S ﬁoaooc;fa‘a‘ool TRE o3y 0w
2 b father of & B0 BOWO. _
is grandfather of
ST 1) Pod» S& 203
3) Pisuncle of S
| ) 2) PO ST =03
Pisb linlaw of § . )
4) P is brother-in-law o 3) Podw S 33%%
4) P o3 SIEAR
(Question : 48) - (=3, 48)
o , 48. 13 1 33s Sesdodo) 23 X030
48. Direction : In the given sequence how . « ;3* - ;’j 2
many times an ODD number appears W, 200 2,08 253 %o 5 S 200D
between an ODD number and an EVEN STV NOS, BT 9BoBo3 23003 ?

number ?
536976554138737445

1) 6
2) 7
3) 8

4 9

19



(Question : 49)

49. Direction : A parallelogram is given
below. Among the choices given,
identify which set of parts of figure is.
required to form the parallelogram.

(3, :

T e
49)

49. RS : B8 YR O A[PFe03T
zia’oa;’of'zsdm 3RUT. eﬁoiamf@
30t30033 23333 z:mzvi%ﬁ 03303 maﬁ\)v
"a"mmoéd BBGNE BRI, RIVTIED
@assmﬂd DOTH THTSA.

/~

/-

e

1) A,B,E,F
2) A,C,D,F
3) A,B,C,E
4) A,B,D,F

(Question : 50)

50. Arectangularparkwitharea 120x80sq.m.
“has four gates A, B, C and D as shown
in the figure.

(33, : 50)

50. 39300 WITY 3Rc02THT0Z WO
SOHTITUL TS D200 120 x 80UDe.
SNTY wdﬁ A, B, C 3 D oW,

IC| ReeFRPS3.
—1 . —
B__ 120 x 80 sq.m. ~— D
i

A
20
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Anil and Kiran enter the park together from WRS® DI I0Es (a&)dra IR aﬁéé?aj
gate C and start walking in the anticlockwise st > < \
gate © ans C?ifw“%z Teds Rectmcs Doy atésg
(wﬁdgz‘amﬂ) SBAHED edoz;)rosg .
'a) Anil completes 3 rounds and in the a) ¥ 3 :béaﬁe;aiad TporRR9

fourth ré)und_he exits from the gate A. POe :‘oéd@J A Reednom
: C 3 o 5
b) Kiran completes 4 rounds and in the ANE DT’ :
fifth round he exits from the gate D. b) $Seesh 4 ,‘lb?oﬁ@?ﬁ)‘_z TROFRRDY
_ _ elataly WENY D Reeddonm
Find the difference between the distances ANEFDZ,
covered by them. OTONT FET Taony @z,
1) 340m FOT&B0W0.
2) 400m | 1) 340 we.
3) 500 m 2) 400 e,
4) 560 m o : 3) 500 we.

4) 560 .

21



S.NO

10
11
12
13
14
15
16
17
18
19
20
21
22

23

State Name

KARNATAKA

KARNATAKA

KARNATAKA

KARNATAKA

KARNATAKA

KARNATAKA

KARNATAKA

KARNATAKA

KARNATAKA

KARNATAKA

KARNATAKA

KARNATAKA

KARNATAKA

KARNATAKA

KARNATAKA

KARNATAKA

KARNATAKA

KARNATAKA

KARNATAKA

KARNATAKA

KARNATAKA

KARNATAKA

KARNATAKA

Question No

O© 0 NO O & W DN P

N NVMNNNRPRRPRPERRERRRRERE
WNEFP, O WOWOoWwWNOOUDMWNEO

Answer Keys

P NN W EFRPDNWEFEBEREDNOOWOWEFEPDNPEPEPDNWWWPESEPEWDNDW
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25

26

27

28

29

30

31

32

33

34

35

36

37

38

39

40

41

42

43

44

45

46

47

48

49

50

KARNATAKA

KARNATAKA

KARNATAKA

KARNATAKA

KARNATAKA

KARNATAKA

KARNATAKA

KARNATAKA

KARNATAKA

KARNATAKA

KARNATAKA

KARNATAKA

KARNATAKA

KARNATAKA

KARNATAKA

KARNATAKA

KARNATAKA

KARNATAKA

KARNATAKA

KARNATAKA

KARNATAKA

KARNATAKA

KARNATAKA

KARNATAKA

KARNATAKA

KARNATAKA

KARNATAKA

24
25
26
27
28
29
30
31
32
33
34
35
36
37
38
39
40
41
42
43
44
45
46
47
48
49
50

P WEFRE WDABRMRPWWONRPEPNDAMRPRRPDMIMNNPEPMMNRPRPNMANMNE WWEER



	QP_Karnataka_NTSE_Stage1_2016-17(MAT).pdf (p.1-19)
	MAT.pdf (p.20-21)

